Math 1 ' Name : D: 1

Two-Step #2 Date Period

Solve each equation.

b t1o0+l %) ~50=-8b+6
10
=242
3) 18 +2n 4)2:_1+£
4
135 =—5 — 105
2 6) -8+ =6
3
7) ~91 = —6—5b NN
9) 33 =5b+7 10) —x+1=~12
11) 7+ 7x =42 12) —4=4n—38
1y e ks 14) 142 =—2 — 8b
14
15) 5(5 + 56) = -125 16) 329 =—7(~5v —7)
~17) BONUS: —235=7(8 — 6x)+3 18) BONUS: 2m +3(1 - 8m) =91
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E Zorna weighs 92 1b. Her weight is
6 1b more than half of her father’s
weight. How much does her father

weigh?

7 The Spaée Club is having some

posters printed, The printer charges -

3250 plus 82 per poster. How many
posters can be printed for $1000°?

Q Mr, Glock's car broke down on the

turnpike. Acmme Towing charged 830
plus 83 per mile to tow the car. IF
Mr. Glock paid §117, how far was
the car towed?

6 A banana has 85 calories. This is

10 calories less.than one eighth of
the calories in a banana spht. How
many calories are in a banana split?

Pizzazz Publications Is having some
books printed. The printer charges
$800 plus 95 per book., How many
books can be printed for $40007?

Rolex worked 40 hours last week.
He had §74 deducted from his
earnings for taxes, If he had $286
left after the deduction, how much
does Rolex earn per hour?
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